2021.10.26 | TIMO 3
LESSON 1. LOGICAL THINKING / TU DUY LOGIC

A. PATTERN PROBLEM / DANG TOAN QUY LUAT

* Number pattern / Diy s6
Exercise 1. According to the pattern shown below, what is the number in the blank?
Pattern: Quy ludt; Blank: cho trong.

38, 35, 30, 23, 14.

Exercise 2. According to the pattern below, find the next term in the sequence.
Pattern: Quy ludt; Next term: So hang tiép theo, Sequence: Day so.

2.50100 17, 26, 37, ...

Exercise 3. Refer to the number pattern below. Find the 7" term in the sequence.
Pattern: Quy ludt; 7™ term: S6 hang thir 7; Sequence: Day so.

1.4, 9016, _ . ...

* Table pattern / Quy ludt bang
Exercise 4. What is the value of the number to represent “?” in the following table?
Value: Gia tri; Represent: Biéu dién; Table: Bang.

1 3 5 20

2 4 7 42
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Exercise 5. What is the value of the number to represent “?” in the following table?
Value: Gia tri; Represent: Biéu dién; Table: Bang.

* Figure pattern / Day hinh

Exercise 6. According to the pattern shown below, how many suns are there from the
1t to the 129" symbol counting from the left?

Pattern: Quy ludt; Suns: Hinh mdt troi; From the I to the 129" symbol: Tir hinh thir 1 dén
hinh thir 129; From the left: tinh tir bén trai.

*OXA*XOIXAXOLIXAXO. ..

* Group pattern / Ddy nhom hinh
Exercise 7. According to the pattern below, how many % are there in the next group?
Pattern: Quy lugt.

| K| K| x| X
X K| K X K| X | X X
ped = % g | X % x| R
% X | R Pl K| K| X | K| X
pd = > g | X % x| oK
|| X P K| XX =

| | R XX

1=t Group 2md Group 3 Group 4% Group
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B. AGE PROBLEM / DANG TOAN TiNH TUOI

Exercise 8. The age of Sam 9 years ago is equal to the age of Peter 3 years later. Given
Sam is 30 years old now, how old is Peter now?
Ago: Truoc,; Later: Sau; Equal: Bang, Now: Hién tai.

Exercise 9. Andy’s grandfather’s age this year minuses 2, is divided by 4, adds 7 and
is multiplied by 5. The result will be 155 years old. How old is Andy’s grandfather this
year? ’

Minus: Tru; Divide: Chia; Add: Cong; Multiply: Nhan, Result: Két qua.

C. DATE PROBLEM / DANG TOAN THU, NGAY, THANG

Exercise 10. Yesterday was Friday. Which day of the week was 38 days ago?
Yesterday: Hom qua, Friday: Thir Sau; Ago: Trudc.

Exercise 11. 26 October, 2021 is Wednesday. Which day of the week will 29%
December, 2021 be?
October: Thang Muoi; Wednesday: Thur Tu; December: Thang Muwoi hai.

HOMEWORK

Exercise 12. According to the pattern shown below, what is the number in the blank?
Pattern: Quy ludt; The blank: Cho trong.

7. 21, 36, 52,

Exercise 13. What is the value of the number to represent “?” in the following sequence?
Value: Gia tri; Represent: Biéu dién; Sequence: Day so.

2, 30 5. 9. 17, 33, 7, 129, ...
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Exercise 14. Refer to the number pattern below. Find the 6™ term in the sequence.
Pattern: Quy ludt; 6™ term: So hang thir 6, Sequence: Day so.

1. 8, 27, 64, N

Exercise 15. What is the 6" number in the sequence with pattern below?
Pattern: Quy ludt; 6" term: S6 hang thir 6; Sequence: Day so.

1. 2,5, 14, 41,

Exercise 16.Four tables below have number filled according to the same pattern but
some cells are being covered. Which number is being covered at the position of symbol
‘Cx ’7?

Same pattern: Cung mot quy ludt; Cells: O; Covered: Bi che khudt; Position: Vi tri

1 4 1 5
1 3 13 | 14 17 19
1| 2
9 16 | 15 x 25
4| 3
7 5 10 7 23 21
13 9

Exercise 17. Find the missing number in the table below.
Missing number: So con thiéu.
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Exercise 18. According to the pattern shown below, how many triangle(s) is / are there
from the 1% to the 300™ symbol counting from the left?

Pattern: Quy ludt,; Triangles: Hinh tam giac; Symbol: Hinh,

Counting from the left: Pém tir phia bén trdi.

ocoAooAogooAooAnD...

Exercise 19. According to the pattern shown below, how many triangle(s) is / are there
from the 1% to the 67" figure counting from the left?

Pattern: Quy luat; Triangles: Tam gidc, Figure: Hinh vé; Counting from the left: Tinh tu phia
bén trdi.

ocAoAoADoAo...

Exercise 20. The age of Samuel 4 years ago is equal to the age of Joseph 5 years ago.
Given Samuel is 32 years old now, how old is Joseph now?
Ago: Truoce; Equal: Bang, Now: Hién tai.

Exercise 21. Now, the sum of father’s and mother’s ages is 93. If the age of father 3
years ago was the same as the age of mother 8 years later, how old is father now?
Sum: Tong; Ago. Truoc, Later: Sau, The same as: Bang voi; Now: Hién tqi.

Exercise 22. Today is Saturday. Which day of the week was 101 days ago?
Saturday: Thir Bay; Ago: Trudc.

Exercise 23. It requires 12 minutes to cut a piece of wood into 5 sections. If the time
required to cut into each section is the same, how many minutes are required to cut into
23 sections?

Require: Can; Sections: Phan; The same: Giong nhau.
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